Seat No. : }ﬂg_

AE-102

April-2019
B.Com., Sem.-I1
SE-102 : Adyv. Statistics
(Operation Research)
(New Course)

| 2
® \
Time : 2:30 Hours] “\\1 $70
HUAL: (

(1) 0l ooyt 2is oy gul B,

(2) HUE AU yF] U518, o
(3) 2@t @Al 2vary 2099 ‘@
‘ Lo (@) W R4 92 g 9 Loyl

T R T Rl Pt

¢
e[y 7
A\
q

Yy

Br + 12y A A2 22A1 24 3¢ wny ol 7
x 20,
v20
xXtysg9
r 22
y23

I+ 0y <30

w{Yqy

M Gl 640 (121 3 sl R Gl Al
7= 200 4 40y A Q@A 331 2l YAt iediq),

Y20, y20

36x + oy < 108

Jx+ 12y 2 36

200+ {0y = 100

I

AE-102 P.T.O



(©)  ARQAUUAL oveio 20 : (36 el )

ra

(a)

(c)

AE-102

(D

AU - s1lcns gALluA

2) RV ALY A U3 G UL puvil wgla-Al ol HAlaL VAL,

(3) W 2Rl R 2UBLAS 243U AN

(4) ARV 20 AAL AL BB 12l A AL AR el

AlreddeR- A3RAL N2 g 7 clsrtercrsiz-Al A2 UL 243 2L,

AU Rl AHRAIAL BFet HRAL AL oveuell, a3 d 15 2 &mmeﬂ‘

YL

(b) AR ditreuderRAl Wil Gia Qe Aa-dl Gl 5313 <u3

‘ \ i

HL G3et 18Rl A Ad g1zl Al 58 WRagr

R CRPCIETNY
Ay | Ay | Ay [ A [ wad
P, | 190 | 300 | 500 | 100
P, | 700._] 300 400 60 0
Py, | 400 | 100 | 6004 20
oL 50 "80 0 3
dl
{l
II 111 v \iqqg[
10 6 13 10
7 2 3 7
11 8 13 3
7 5 2 20

A2 WAL oo 00 : (61 A Q)

(h

(2)
&)

(4)

RUALE Al Rl AHRAA AMlE szl i Bell 31 3zel]

usly ?

dtértdelz-l 40 3R [01s Gxet Nnasi-l Al At svoudl,

s dlereaddiz-Al A1 4 Geersral 24 5 R du Q8- 32a
WRIGLE GRel sy oA ¢

Atttz R-l AHRAUAL U B aruell.

2

4



3. (a)

(b)

(c)

- AE-102

Ryl e 22a 4 2 AEEIERIDECENEITTITE
UL

2rotgell-l 2 @R Ak avil.

45 ateetd 24 A AR AR AR R Bia ANAL
o 42 ()

VYO T Q R S

| 11 12 13 14

11 14 15 16 17

111 15 16 17 18
1A% 18 17 16 15

EREIET
A 2ztfl Brd T 8,000 8. Al alfls Reud via] A €35 «

AR B, Bzl < AN vlead AT A URAL R 24CH ML :

qf 1 2 3

AUl

i

Reud vzl 1000 | 1200 0 0 172400

3000

3000

Yet: QU B | §500 0 3200

ANE [ e M2i6 %1 vuel v L :
(1) HRU
( T (b) Ayl
ew_ ARUYA (d) FRotedl

(3) Ry RUMI ¢R 4R aderl vl TR
(a) UM (b) A

Yt Q11 A e Brotecll MR e i A B.
get v (b) WRRLga v
) [oudval @ el Aeud vl

SRaA WgR B GEa AnadHl 2 6.

-

(€)  AMIA 2AYUAL VREBAIA d) QL BsugL A

(i) &AL B, 423 dgtd AHA.
(i) UMMl - UL AU
Yl
w21 Aseful ARAAL ve Al :
UYR1, steuPs ugf, s2sAqel el gva Wi

3

P.T.O.



(b) AR vt w2 52520yl 3ol Assl 31 244 EST, LST, EFT, LFT i S UMY

Assl 531 :
0| .2 | 23 | 224 | 34 | 35 | 45 | 56
AHY (SIS 10 5 | 5 8 2 10 6
Yl
ARA vl M2 U8 A5 Auiz 531 521521yl Hiol 2kl -
wqf ol saeel | el ayy Rizuagl
AU iedd UHA AUHY
A -2 6 6 24 s
1-3 6 12 18
C 1~4 12 12 0
D 2-5 6 6 6
E 335 12
F 4-6 12 42
G 5- 6 34
(c) =2Mal Hscmu 1ell oy 3L :
(1) selsel ﬁ\u <AL Slove ANy S 8.
(b) =h1l
(d) 2[R
aisied[s ugid _ gRieulam S,
#425 IR (b) =5 3w
(c) LR (d) syl €l

@%

S5 gt U2 EST = 20, gt HeAL 34U = 5 24 glove WHd = 5 S dl

AE-102

LFT =

(a)
(c)

25
35

(b)
(d)

————

30
EREAVIETRRTA |

7



Seat No. :

| AE-102
' April-2019
B.Com., Sem.-1I
SE-102 : Adv. Statistics
(Operation Research)

(New)
Time : 2:30 Hours) : 70
Instructions : (1) Figures to the right indicate marks.
(2) Simple calculator is allowed.
(3) Graph paper will be given req
1. (A) Whatis linear programming ? 7
OR

Explain following te

“easible Solution

e objective function Z = 8x + 12y subject to the following constraints. 7

x+ys<9
x22
y23
3x + 6y <36
OR

Solve the following linear programming problem by using the graphical method.
Minimize 7. = 20y + 40y
Subject to,

xz0, y20

d6x + 6y < 1(18

Ay I"y

20y + l()y 2100
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(C) Answer the following : (any Two) 4
(1) Detine Operations Research

(2} Give two limitations of graphical method of solving linear programming
problem.

(3)  Explain mathematical formulation of linear programming problem.
(#)  State the name of methods for solving linear programming problem.

re
H

(A)  What is transportation problem ? Explain its mathematical form ?

0%’
OR
State difterent method for solving transportation problem. Explain any on€ of them.
(B) Solve the following transportation problem by using Vogel’ thed.
total transportation cost. 7

AL | A, | A

P 190 300

I II II1 IV | Supply
5 10 6 13 10
B 9 7 2 3 7
C 3 11 8 13 3
Demand | 6 7 5 2 20
(C)  Answer the following questions : (any Two) 4

(I) How 10 convert unbalanced transportation problem into  balanced
transportation problem ?

(2)  Which are the methods for obtaining initial solutions to given transportation
problem ?

(3) A transportation problem having +# origin and 3 destinations. [{ow many
initial solutions are possible ?
(4)  Write main goal of Transportation problem.
AE-102 6



(A) What is assigment problem ? Explain its mathematical form. 7
OR

W rite short note tor Replacement theory.

(B)  Solve the following assignment problem so as to maximize the profit : 7
Profit (Y)
Salesman P Q R S
1 I 11 12 13 14
1 14 15 16 17 \
moo|o1s 16 17 18
v 18 17 16 15 ‘
OR
A machine costs ¥ 8.000. Its annual mai resale price for every
vear are given below. Give your copiie its is advisable to replace
the machine.
Y ear . 5 6
Maintenane 2400 | 3000
' 3200 | 3000 |
(C) ‘ ank$'by selecting correct option from the given options. 3
rian method is used to solve _ problem. k
a)  Transportation (b) Assignment
¢)  Linear programming (d) Replacement
The best year for replacement is the one where is minimum.
(a) total cost (b) average total cost
(¢)  maintenance cost (d) cumulative maintenance cost
(3)  In assignment problem no. of rows and column must be -
(a) equal (b) unequal
(¢c)  equal or unequal (d) None of these
(A) (1) Explain the difference between PERT and CPM. 4
(2)  Explain : Expected Time 3
OR
Fxplain the following term with reference to PERT :
Activity, Dummy activity. Critical path, Float Time
AE-102 7 P.T.O.
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(B) Determine critical path for the following project. Determine EST. LST. EFT. LFT

and Float time : B 7
Atﬂtlvuym fed | 2.3 o-al3-al3-5]4-5|5-6
Time (inhours) | 10 | 15 [ s | 8 | 2 [ 10| 6
- OR
Draw PERT chart for the following project and determine critical path :
Activity [;;u;m 0.[)ti.n|islic Most-Likely Pessi.mispick | 2
Time Time Time
A 1-2 6 6
B 1-3 6 12 1
C | -4 12 W50
D 2-5 6 6
E 3-5¢ 0 . 48
F e I 30 42
G - 18 30 54
Fi 1kdby selecting correct option from the given options : ' 3

) 7 Lleattime for any activity on critical path is
Positive | (b) Negative
(c) 0 (zero) (d) Indefinite
(2) In PERT diagram, Dummy Activity is represented by

(a) Dotted Arrow (b)  Dotted line

(c)  Straight Arrow (d) None of these

For an Activity EST = 20, Time for Activity = 5 and Float Time = 5, find

(3)
LFT=__
(a) 25 (by 30
(c) 35 (d) None of these
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